Final Exam for Online Japanese 2001

Spring 2009 (Lessons 13-15, Primarily 14-15) ~ Name: Score: /100

1. A. Match the cause and effect phrases below. (2 x 6 =12)

TS5 vaFxuiE LT a.HLh W= TT,

V&S VAIC To1205 b. Z& 3k RLLTY,
DEN Wi S c. 17 (BERA) A LIVTT,
520N U RS vFE BREADL d. A ER AEYFELE,
TAMMN 100TAT e. 2% SZAFEEA,
EDS. HFEY RTLELT f.BEAN W< hEYELT,

2. Fill'in the blanks with appropriate Japanese according to the cues given below. (2 x 11 = 22)

LA = <. o

(I have a stomachache, so | can't sleep.)
B: €3 T9h, Lo,
(Well then, you had better take a medicine.)

2 A HBL. TRMHEZHFE, FTLEE 2 (May | watch TV?)
B:HLIETRIAHDALE 5. TLEIE (You had better not watch it.)
TH, BAKLIE (You may listen to music. [Use alternate permission form you didn't use in A above.]

3 |A RF—ITITCATTIFE, AEEL5LWLTTH,

B: =tz \Orv iy & . TRLKAE IT=VE
(Give gentle suggestions.)
4.

A BRAIZFEDNE A

(My children want to go somewhere duirng holidays.)
B: LvH. 3L E<HA (aquarium)

(I think it would be good/fun if you go to .....)

3. Fill in the blanks according to the instruction below. (14)

1.

A is a female, B is a male speaker. They are friends. Fill in the blanks with phrases appropriate for friends. (2 x 3 = 6)

A: HLEOXKIELL ? (I wonder...)
B: Za—XITkd&E. HLEEELLORAN 2 TE>Tfz&k, (the south wind will probably blow)
A: Lo, My LAzza, (it might get warm)

. |Describe the changes that took place in the following picture. (Include M T.) (4)

. |Describe the weather. Make sure you use the appropriate uncertainty expressions. (4)

a.m. p.m.

10 degrees | 0 degrees
sunny show

4. Talk about the changing weather as indicated below. Use hearsay (~IZ& % &~% 5 12), appearance (~% 5 1¥) and uncertainty




expresessions (~TL &9 or ~M% LAZELY) when appropriate. (2 x 4 = 8)

A HHARS>TNET &,

B: €5 Td%4h, TAZTKIESIC
(According to the weather forecast, they say it will become cold tonight.)

A hED o (It looks very windy. [Lit., "The wind looks strong."])

B: EHAN EhoTLS . SARAIE TARR F—LH
(Because the air temperature is coming down, an ice storm might come tonight.)

5. Respond to the following questions in Japanese with the ~[&~#H%~structure. (3 +3 + 4 =10)

1. A8—N\y IR (E a—t—mN BLWLWLWTIT A,

o (3)
(Enter your choice of a restaurant or coffee shop to characterize.)
2 BRY £S5YIE FLESLADN BLLWTTA, ZAVADY £5YIEESTTH,

(Characterize American food.)
3.FF BEFHDIZ L EFIT TELVTTH,

(My wife wants to go to Hokkaido to ski.)

7. Describe the people/situations in the following pictures using appearance patterns. (2 x 5 =10)

1.
— HOIX R
2.
—WALAIX §81E LwEF»LSIC
3.
4,

N
-

L-FYbeAl o




H->FYBPARFTAIRI)—L%E °

. Respond in Japanese. (2 x 5 =10)
4HIE. MARBTI A, ZBFAFMERTLEZM,

—

— 45 BIFATA CH LTI D,

—

1.

—BREIC DAL CHL ANEDLET D,

—

BAZDY SR IEIFENSAFKETTT M. FATEHY FITH.

—

BOPTHIE WD EZLELT, LVD BEbYERThH,

—

5.

. Read the following passage and answer the questions below. (2 x 7 = 14)

BHEO7 FS 2 DOXRKUE, BEBAT, CJZEF<ELYTLES, RBIF. BET10ECLVTYTA, XK

ALLDT, BN A s BITAIZIEH. 20ESHVETENSTLELD, ST, BOALD
XEWAHBHLHEHTLELED, BAA B BToT, MBABMNELLNIFEREA, P37 (at dusk) Hh 5 HEIC
(X, DA TIFEEATMN->T, C BHTLELD, EADATIE. WEHELSDENL LALLDT,

K& DT TR ELV(=Be careful), ChMLDEHIE, CLEBVENZVTTN, MEFDLEVTLELS, §F
X, B8R (z\WA53) N=ZOhomoOEsMhE LhERFA,

1.|SDOEHIFRTTA, &F - E - B - &)

.| Rephrase the underlined noun sentence into a verb sentence: 2 (& T. 22X TL&I,

FTEMNB] DIFXAT=LY (opposite) (XA TI DY,

.| Fill in the blank A with the appropriate phrase to mean "It appears that it is going to warm up."

.|Choose the appropriate phrase for Blank B (< + §< - EBEHMC - %)

olalslw]d

.|Choose the appropriate phrase forBlankC (&< + EL + JELLC - EBH”)




